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[1] 3x +2y —5x + 3y
= 3x —5x t2y +3y
= —2x+5y

Bl (—a+b)—(2a +3b)
= —a+b—2a —3b

= —a—2a+b —3b

= —3a —2b

(5] —5x — 3y
+) x —2y
—4x — 5y
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(2] 2m + 6mn — 10m — 4n +mn
= 2m — 10m +6mn +mn —4n

= —8m +7mn —4n

HSIEE ! (4] (x —5y) +(=2x =7y +2z)
=x 5y —2x ~7yt2z
=x—2x —5y—7yt2z

= —x 12y +2z
FEIEER !
6] —3a +2b
+) +3a — 6b

—4b
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[1] —=2x —y , 3x t6y

fM(=2x —y)+Gx +6y)

—2x —y +3x +6y

Z(—2x—y)—Bx +6y)

2] 5a —2b + 3¢, —2a +4b

M (5a —2b+3¢)+(—2a +4b)
Sa —2b —2a +4b

#= (5a—2b+3c)—(—2a +4b)

—2x —y —3x — 6y Sa —2b +2a —4b
fa x +5y fo 3a +2b + 3c
= —5x =7y = 7a —6b + 3c
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